
9.71
OVERALL LENGTH

8.23
OVERALL

WIDTH

 6.25 BOSSES 

4.25
BOSSES

B

B

A

A

7.84 MINIMUM
INSIDE LENGTH

8.16 MAXIMUM
INSIDE LENGTH

4.00
CASE

HEIGHT
4.33

OVERALL
HEIGHT

.44 BOSS
HEIGHT SECTION 

B-B

FOR #10 
SELF TAPPING
SCREW

2.87 INSIDE
BOTTOM HEIGHT

6.06 MINIMUM
INSIDE WIDTH

6.26 MAXIMUM
INSIDE WIDTH

.82 INSIDE
TOP HEIGHT

SECTION 
A-A

2 Mounting Brackets included, see
sheet 2 for dimensions and for optional
mounting Corner Feet and Brackets.

-UL listed to UL 508A 4/4X standard
(UL file E519183).

-Material: UV stabilized Polycarbonate
                  Flammability V0, F1 rated material.

-Watertight enclosure meets or
  exceed Nema 4 and or IP67.

Aluminum and Plastic Panel Kits are 
available as options, see sheets 3-6.
The aluminum panel options are:
Bottom Panel Kit p/n 7100B
Top Panel Kit p/n 7100T
Hinged Top Panel Kit p/n 7100TH
The plastice panel option is:
Hinged Panel Kit p/n 7100HP

PARTS INCLUDED
P/N Qty. Description

I152HLT 1 I152 Hinge Latch Top
I140HLB 1 I140 Hinge Latch Bottom

7011PCM 2 Safety Latch for I-Series (PC)
8150 1 150 O-Ring
1305 2 Mounting Bracket
6028 4 SS #10 X 5/8" Pan H/L

I142HL

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

4/20/2021



 7.80 FLANGE LENGTH 

 7.62 

 6.00 

4X  .29 FOR
1/4" SCREW

 6.75 

(4) SCREW
pn 6028

(2) FLANGE
pn 1305

 6.78 

 .85 
4X  .29 FOR
1/4" SCREW

 6.73 

 1.75 

 7.63 

 7.48 

(4) SCREW
pn 6028

(4) CORNER FEET
pn 1305

 8.10 

4X  .33 FOR
1/4" SCREW

 7.64  2.13 

 3.00 

 2.58 

 6.10 

 9.64 

(4) SCREW
pn 6028

(4) CORNER BRACKET
      pn 1355

INCLUDED STANDARD
1305 FLANGE KIT

TOP & LATCHES REMOVED
FOR CLARITY FROM ALL VIEWS

OPTIONAL 1355 CORNER BRACKET KIT
OPTIONAL 1306 CORNER FEET KIT

PARTS INCLUDED IN KIT PN 1305
P/N Qty. Description
1305 2 Mounting Bracket

6028 4 SS #10 X 5/8" Pan Combo H/L Screw

PARTS INCLUDED IN KIT pn 1306
P/N Qty. Description
1306 4 Mounting Corner Feet
6028 4 SS #10 X 5/8" Pan Combo H/L Screw

PARTS INCLUDED IN KIT PN 1355
P/N Qty. Description
1355 4 Mounting Corner Bracket
6028 4 SS #10 X 5/8" Pan Combo H/L Screw

I142 Mounting Bracket Dimensions

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

4/20/2021



8.10

 6.20 

R.35
4x

PANEL
pn 71040

(4) SCREW
      pn 6028

GROUND STRAP
HOLE

 .13 

OPTIONAL KIT 
pn 7100T

PARTS INCLUDED IN KIT pn 7100T
P/N Qty. Description

71040 1 Aluminum Top Panel
6029 4 SS #10 X 3/8" Pan HL Screw

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

11/08/2021

7100T Aluminum Top Panel Kit for
I142HL, I152HL and I152HS



 .20 THRU
4 PLC'S

 8.10 

 6.20 

R.35
4 PLC'S

 .35 

 1.71 

 .17 

 7.56 

 5.66 

 .13 

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

11/08/2021

71040 Aluminum Top Panel 
I142HL, I152HL and I152HS



 6.87 

 4.98 

PANEL
pn 7200(4) SCREW

      pn 6029

GROUND STRAP
HOLE

OPTIONAL KIT 
pn 7100B

 .13 

PARTS INCLUDED IN pn 7100B
P/N Qty. Description

71000 1 Aluminum Bottom Panel
6029 4 SS #10 X 3/8" Pan HL Screw

7100B Aluminum Bottom Panel Kit for
I142HL, I152HL and I152HS

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

11/08/2021



 .20 THRU
4 PLC'S

 6.87 

 4.98 

R.06
4 PLC'S

 .35 

 1.71 

 .17 

 6.25 

 4.25 

 .13 

7000 Aluminum Bottom Panel
I142HL, I152HL and I152HS

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

4/20/2021



 8.10 

 6.20 

PANEL
pn 71020

(2) SCREW
      pn 6028

(2) SCREW pn 6028 and
(2) NUT pn 6105 (not shown)

GROUND STRAP
HOLE

SCREW (2)
pn 6029

HINGE PIN (2)
pn 1307

PANEL HINGE B
pn 1309

PANEL HINGE A
pn 1308

OPTIONAL KIT
pn 7100TH

 .13 

PARTS INCLUDED IN pn 7100TH
P/N Qty. Description

71020 1 Aluminum Hinged Top Panel
6029 2 SS #10 X 3/8" Pan HL Screw
6030 2 SS #10-32 X 3/8" Pan Combo Screw HL Screw
6105 2 SS #10-32 X1/8" Nut
6028 2 SS #10 X 5/8" Pan Combo HL Screw
1307 2 Hinge Pin
1308 1 Panel Hinge A
1309 1 Panel Hinge B

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.comPh. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

11/08/2021

7100TH Aluminum Hinged Top Panel Kit
for I142HL, I152HL and I152HS



 8.10 

 .13 

 6.20 

 5.45 

 1.36 

 R.38 

.20
4 PLC'S

 3.09 

 3.78 

 2.83 

 2.12 

 R.13 

 1.71 

 .17 

 .35 

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.comPh. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

4/20/2021

71020 Aluminum Hinged Top Panel
I142HL, I152HL and I152HS



5.95
Customizable

Area

7.88
Customizable Area

 8.12 

 .86 x 45
TYP

 6.19 

A

A

BB

PANEL
pn 71021

SCREW (4)
pn 6028

HINGE (RIGHT)
pn 1311

HINGE (LEFT)
pn 1310

 5.89 

 .10 

SECTION A-A

 7.82 

SECTION B-B

OPTIONAL KIT
pn 7100HP

PART INCLUDED IN pn 7100HP
P/N Qty. Description

71021 1 Plastic Hinged Top Panel
1310 1 Hinge - Left
1311 1 Hinge - Right
6028 4 SS #10 X 5/8" Pan Combo H/L Screw

7100HP Plastic Hinged Top Panel Kit for
I142HL, I152HL and I152HS

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.comPh. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

11/10/2020



5.95
Customizable

Area

7.88
Customizable Area

 8.12 

 6.19 

 2.82 

 .84 X 45
4 PLC'S

 3.78 

B

B

AA

 5.89 

 .45 
 .57 

 .10 

.02
RECESSED

SECTION B-B

 7.82 SECTION A-A

71021 Plastic Hinged Top Panel
I142HL, I152HL and I152HS

Ph. (626) 331-0517  Fx. (626) 331-8584  serpac.comPh. (626) 331-0517  Fx. (626) 331-8584  serpac.com
2009 Wright  Ave. La Verne, CA 91750

11/10/2020



X-ON Electronics
 
Largest Supplier of Electrical and Electronic Components
 
Click to view similar products for Enclosures, Boxes & Cases category:
 
Click to view products by  SERPAC manufacturer:  
 
Other Similar products are found below :  

585-R-WH-PK  M-10-PLATED  60221-01  60566-01-000 HPL-9VB BATT DOOR  M18-PLTD  M-21-PLATED  63310-01-000  6711GSKT 

71884-29-028 LH45-100 Black  72868-510-000 CNS-0000 Black  72883-510-000 CNS-0101 Black  72906-510-000 CNS-0407 Black  73092-

510-000 CNM-0101 Black  73108-510-000 CNL-0303 Black  73395-510-039 CNS-0006 Bone  74257-510-000 CNL-0004  MDC-1183-PLAIN-

ALUM  MDC-1183-PTD  MDC-13104-PTD  MDC-321-PTD  MDC-973-PTD  76  77153-01-028 FLX6030  83535-01-508  90026-501-000 

PS36-200  116-508  120-407  120-910  127-908  130-008  1301170079  1322GSKTEP  1325GSKT3  1434-1210  EAS-500 (BLACK ANO) 

1804RP-RB-PK  190-005  2202307  KAB3321 BLACK  KAB3421  2697466  S52213  2901123  2901699  A0645271  A20P20  2106-IR  PERF-

850-PLN  PG-1176  

https://www.x-on.com.au/category/enclosures/enclosures-boxes-cases
https://www.x-on.com.au/manufacturer/serpac
https://www.x-on.com.au/mpn/budindustries/585rwhpk
https://www.x-on.com.au/mpn/lmbheeger/m10plated
https://www.x-on.com.au/mpn/pactec/6022101
https://www.x-on.com.au/mpn/pactec/6056601000hpl9vbbattdoor
https://www.x-on.com.au/mpn/lmbheeger/m18pltd
https://www.x-on.com.au/mpn/lmbheeger/m21plated
https://www.x-on.com.au/mpn/pactec/6331001000
https://www.x-on.com.au/mpn/budindustries/6711gskt
https://www.x-on.com.au/mpn/pactec/7188429028lh45100black
https://www.x-on.com.au/mpn/pactec/72868510000cns0000black
https://www.x-on.com.au/mpn/pactec/72883510000cns0101black
https://www.x-on.com.au/mpn/pactec/72906510000cns0407black
https://www.x-on.com.au/mpn/pactec/73092510000cnm0101black
https://www.x-on.com.au/mpn/pactec/73092510000cnm0101black
https://www.x-on.com.au/mpn/pactec/73108510000cnl0303black
https://www.x-on.com.au/mpn/pactec/73395510039cns0006bone
https://www.x-on.com.au/mpn/pactec/74257510000cnl0004
https://www.x-on.com.au/mpn/lmbheeger/mdc1183plainalum
https://www.x-on.com.au/mpn/lmbheeger/mdc1183plainalum
https://www.x-on.com.au/mpn/lmbheeger/mdc1183ptd
https://www.x-on.com.au/mpn/lmbheeger/mdc13104ptd
https://www.x-on.com.au/mpn/lmbheeger/mdc321ptd
https://www.x-on.com.au/mpn/lmbheeger/mdc973ptd
https://www.x-on.com.au/mpn/serpac/76
https://www.x-on.com.au/mpn/pactec/7715301028flx6030
https://www.x-on.com.au/mpn/pactec/8353501508
https://www.x-on.com.au/mpn/pactec/90026501000
https://www.x-on.com.au/mpn/pactec/ps36200
https://www.x-on.com.au/mpn/altech/116508
https://www.x-on.com.au/mpn/altech/120407
https://www.x-on.com.au/mpn/white-rodgers/120910
https://www.x-on.com.au/mpn/altech/127908
https://www.x-on.com.au/mpn/altech/130008
https://www.x-on.com.au/mpn/molex/1301170079
https://www.x-on.com.au/mpn/budindustries/1322gsktep
https://www.x-on.com.au/mpn/budindustries/1325gskt3
https://www.x-on.com.au/mpn/hammond/14341210
https://www.x-on.com.au/mpn/lmbheeger/eas500blackano
https://www.x-on.com.au/mpn/budindustries/1804rprbpk
https://www.x-on.com.au/mpn/altech/190005
https://www.x-on.com.au/mpn/phoenixcontact/2202307
https://www.x-on.com.au/mpn/lmbheeger/kab3321black
https://www.x-on.com.au/mpn/lmbheeger/kab3421
https://www.x-on.com.au/mpn/phoenixcontact/2697466
https://www.x-on.com.au/mpn/molex/s52213
https://www.x-on.com.au/mpn/phoenixcontact/2901123
https://www.x-on.com.au/mpn/phoenixcontact/2901699
https://www.x-on.com.au/mpn/belden/a0645271
https://www.x-on.com.au/mpn/nvent/a20p20
https://www.x-on.com.au/mpn/serpac/2106ir
https://www.x-on.com.au/mpn/lmbheeger/perf850pln
https://www.x-on.com.au/mpn/lmbheeger/perf850pln
https://www.x-on.com.au/mpn/budindustries/pg1176

